RERERER (REER)
#E ZFELANFENAZAHIEAEHA

—EERE ZEREHAR
FET T o

REBEEBZH SR E
W EBHE A4S (11,194) (15,694)
A S 47 39
A AR (137) (93)
il B 4 2 LS (14) (14)
EL AT A s R 15 B = (181)
G S-E S Rkt (11,298) (15,943)

RKEREEK B SR E
W M A S A (21) (22)
Wi B = Ik R SR 4 A (35,000) —
JRE Wi B 8 > ) 2 K — 3)
HEEERE = 18,131
RW) /A AR EEH 2B EwE (35,021) 18,106

REMEER 2 HESRE
BEAT B A 33,667 —
& 1y 85 47 BH 52 (726) —
— A H R 17,828 —
BB M4 2 EAR TN (146) (146)
Bl ) @G 0 2 Bl 4 50,623 (146)
B4 M R AT &5 BB m 4,304 2,017
WA 2 B4 K SR AT 45 B 3,976 6,488
[ %< 434 ) = 70
W& 2 B4 B SR AT 45 B 8,280 8,575

13



